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List what type the following reactions are: 
double displacement 
combustion  
precipitation  

single displacement  
acid-base  
synthesis 

oxidation/reduction (redox)  
decomposition 

 
79. NaOH + KNO3 � NaNO3 + KOH  
 Double Displacement 
80. CH4 + 2 O2 � CO2 + 2 H2O 
 Combustion, Redox 
82. 2 Fe + 6 NaBr � 2 FeBr3 + 6 Na 
 Single Displacement, Redox 
83. CaSO4 + Mg(OH)2 � Ca(OH)2 + MgSO4 

 Double Displacement, Precipitation 
84. NH4OH + HBr � H2O + NH4Br 
 Acid-Base 
85. Pb + O2 � PbO2 

 Synthesis, Redox 
86. Na2CO3 � Na2O + CO2 
 Decomposition, Redox

72. 
73 
74. 
 
75. 
76. 
 
77. 
 
78. 
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87. Which is a precipitate in this equation? 
AgNO3(aq) + NaCl(aq) -------> AgCl(s) + NaNO3(aq)  
AgCl is the precipitate 
88. Write the net ionic equation for the following equation 
AgNO3(aq) + NaCl(aq) → AgCl(s) + NaNO3(aq) 
Ag+ (aq)  +   Cl-  (aq)  AgCl(s) 
89. Write the net ionic equation for the following equation 
Fe(s) + 2AgNO3(aq) → 2Ag(s) + Fe(NO3)2(aq) 
 Fe(s)      +   Ag+ (aq)  Ag(s)   +   Fe2+(aq) 
90. According to the following unbalanced equation: 
_2_CH3OH + _3_O2 � _4_H2O + _2_CO2 
how many grams of oxygen would be required to react completely with 198 g of CH3OH? 
 
198g CH3OH 1 mole CH3OH  3 mole O2       32.00g O2      =  297 g O2 

 
  32.05g CH3OH  2 mole CH3OH        1 mole O2  
 
 
91. What is the % yield of water in a reaction in which the theoretical yield is 45.52 g of H2O and actual 
yield is 36.25 g of H2O? 
 
36.25g H2O    x  100  =  79.6% 
45.52g H2O 
 
Limiting Reactant Problem 
2C2H6 + 7 O2� 4 CO2 + 6 H2O 
If we begin with 2.36 moles of C2H6 and 7.31 moles of O2, and the reaction goes to completion, 
92. How many moles of CO2 will be produced? 
93. How many grams of H2O will be produced? 
94. How many moles of C2H6 will be left un-reacted? 
Information we need to know before we can answer the questions, “Which is the limiting reactanct?” 
 
2.36 moles C2H6        7 moles O2 =  8.26 moles O2  needed to complete reaction. We only have 7.31, therefore O2  
      is the limiting reactant. 
          2 moles C2H6   
 
92.  
7.31 moles O2   4 moles CO2  =  4.18 moles CO2          
 
    7 moles O2            
 
93. 
7.31 moles O2   6 moles H2O    18.02 g H2O  =  112 g H2O          
 
    7 moles O2         1 mole H2O    
 
94. 
7.31 moles O2   2 moles C2H6    = 2.09 moles C2H6 are needed for the reaction. We have 2.36, therefore C2H6 is in XS. 

     

    7 moles O2            
 
2.36 moles C2H6  -  2.09 moles C2H6  =  0.27 moles C2H6  unreacted           
 


